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1.

2.

Which of the following is the
correct match?

(A) Electric motor — Electrical
energy to mechanical
energy

(B) Safety fuses — Heating
effect of electric current

(C) Electric generator — Electro-
magnetic induction

(D) More than one of the above
The defect of vision in which
a person cannot see the distant

objects clearly but can see
nearby objects clearly is called

(A) myopia
(B) hypermetropia
(C) presbyopia

(D) None of the above

SONAR technique uses
(A) X-rays

(B) infrared waves

(C) microwaves

(D) None of the above
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4. During the

lightning, which

phenomenon takes place?
(A) Electric charging
(B) Electric discharge

(C) Accumulation of electric

charge

(D) None of the above

A much hyped ‘god-particle’
was discovered in the CERN
European Laboratory in 2012.
The scientific name of the
‘god-particle’ is

(A) Higgs electron
(B) Higgs boson
(C) a quark

(D) None of the above

A beam of blue light was used to
obtain diffraction pattern using
a diffraction grating. If yellow
light is used by replacing the
blue light

(A) diffraction pattern becomes
narrower and  crowded
together

(B) diffraction pattern does not
change

(C) diffraction pattern becomes
broader and farther apart

(D) None of the above
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7. Raman effect is due to Sir C. V.

Raman. Which of the following
statements is correct about
‘Raman effect™?

(A) Raman effect is an example
of elastic scattering of light.
(B) The frequency of the
incident light increases as

well as decreases after
scattering.

(C) The frequency of the
incident light can only

decrease after scattering.
(D) None of the above

Suresh has two half-filled
buckets of water when he wants
to take bath. The temperature
of the water in one bucket is
25 °C (room temperature) and
the temperature of water in
other bucket is 60 °C. He has
two plans in his mind before
taking bath :

Plan 1 He mixes both the
waters in a bucket and wait
20 minutes before taking bath.

Plan 2 First, he waits for
20 minutes and mixes the water
just before the bath.

He is confused about which

plan will work to get him hotter

water. Help him find the correct

plan.

(A) Plan 1 is correct

(B) Plan 2 is correct

(C) Plan 1 and plan 2 will give
identical results

(D) None of the above
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9.

10.

11.

Semiconductors are materials
that possess

(A) electrical conductivity more
than the conductivity of
metals

(B) electrical conductivity less
than the conductivity of
metals

(C) zero electrical conductivity

(D) None of the above

Solar cell is a device that
converts light energy into
electrical energy. We obtain the
highest output of energy during
noon when the sun is just
above our head, because

(A) the density of light radiation
is maximum when sun rays
are falling vertically

(B) the heat produced is
highest in the noon

(C) the sun is nearest to the
earth at noon

(D) None of the above

Which of the following metals
does not corrode?

(A) Gold
(B) Iron
(C) Platinum

(D) More than one of the above
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12. A substance added to food 16.

containing fats and oils is called
(A) oxidant

(B) rancid

(C) antioxidant

(D) None of the above

13. Electrolysis of water is a

(A) displacement reaction

(B) decomposition reaction

(C) combination reaction

(D) More than one of the above
14. Tomato is a natural source of

which acid?

(A) Acetic acid

(B) Tartaric acid

17.

(C) Oxalic acid

(D) None of the above

15. 100% pure ethanol is called
(A) absolute alcohol
(B) denatured alcohol
(C) ethanoic acid

(D) None of the above

Consider the following
statements :

1. Crystallization is the
process of deriving crystals
of pure substance from
their solution.

2. A bonding between
constituent atoms or
molecules takes place
during crystallization.

3. It is an example of chemical
change.

Which of the statements given
above is/are correct?

(A) 1, 2 and 3
(B) 1 and 2 only
(C) 1 only

(D) None of the above

In one of the following options,
materials are arranged in
increasing order of force
of attraction between their
particles. Find the correct
option.

(A) Hydrogen gas, water, iron
metal

(B) Air, salt, juice
(C) Salt, juice, air

(D) None of the above
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18. Which of the following would 21. During the contraction of heart,

weigh the highest? what prevents backflow of
blood?
(A) 02 mole of sucrose
(C12H25011) (A) Thick walls of the atria
(B) 2 moles of CO, (B) Thick muscular walls of

the ventricles
(C) 2 moles of CaCOgj
(C) Valves in the heart

(D) None of the above
(D) None of the above

19. The term ¢ hemistry’ ref
e term green chnemis ry reiers 22. StapediuS iS a

to
(A) a process of synthesizing (A) bone
chemical compounds by (B) muscle
minimizing the wuse of
hazardous chemicals (C) nerve
(B) innovative scientific (D) None of the above
solutions to real world
environmental problems 23. Frogs and toads are examples

(C) the process that reduces of which one of the following

d o
the mnegative impact of amphibians:
chemical processes on (A) Apoda
human health and
environment (B) Urodela

(D) More than one of the above (C) Anura

(D) None of the above
20. Which of the following

substances will show Tyndall 24. The contractile proteins in
effect? muscle are

(A) Dilute solution of NaCl (A) actin and myosin

(B) Milk (B) actin and tropomyosin

(C) Starch solution (C) myosin and troponin

(D) More than one of the above (D) None of the above
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25. Name a clinical trial in which 28.

26.

27.
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blood is transfused from
recovered COVID-19 patient to
a corona virus patient who is
in critical condition.

(A) Plasma therapy

(B) Remdesivir

(C) Solidarity

(D) None of the above

The site of photosynthesis in the
cells of a leaf is

(A) cytoplasm

(B) mitochondria

29.
(C) protoplasm
(D) None of the above
Protista group includes
(A) wunicellular eukaryotic 30.

organisms

(B) heterotrophic
organisms

eukaryotic

(C) all green plants

(D) None of the above

Consider the

statements :

following

1. The crops which are sown
in the rainy season are
called Rabi crops.

2. Paddy, maize, soya bean,
groundnut and cotton are
Rabi crops.

3. The crops grown in the
winter season are called
Kharif crops.

Which of the statements given
above is/are correct?

(A) 1, 2 and 3
(B) 1 and 2 only
(C) 1 and 3 only

(D) None of the above

Pomology is the study of

(A) leaves
(B) fruits
(C) flowers

(D) None of the above

Movement of Ileaves of the
sensitive plant Mimosa pudica
is referred as

(A) chemonasty
(B) hydrotropism
(C) thermonasty

(D) None of the above
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31.

32.

33.

34.

35.

Which is the first State of India
to use robotic technology to
clean all its commissioned
manholes?

(A) Bihar

(B) Punjab

(C) Kerala

(D) Tamil Nadu

Which of the following is not a
Special Category State as of
20237

(A) Jharkhand

(B) Telangana

(C) Assam

(D) Sikkim

Who is the first woman officer
appointed as Director General of

the Central Industrial Security
Force?

(A) Binita Thakur

(B) Shubhra Singh

(C) Nina Singh

(D) Roli Singh

The ‘National Education Day’ is
observed on

(A) 13th November

(B) 14th November

(C) 9th November

(D) 11th November

When has INS Imphal been
commissioned into Indian Navy?

(A) 26th December, 2023
(B) 20th April, 2020

(C) 26th October, 2023
(D) 26th December, 2022
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36.

37.

38.

39.

40.

The mname of the Central
Government Scheme launched
in June 2023 to promote the use
of non-chemical fertilizers by
farmers is

(A) PM-SANKALP

(B) PM-NAMAN

(C) PM-PRANAM

(D) PM-SAMVAD

Asia’s Largest Liquid Mirror
Telescope is installed in

(A) Shimla (Himachal Pradesh)
(B) Mussoorie (Uttarakhand)
(C) Nainital (Uttarakhand)

(D) Hassan (Karnataka)

The first Indian city that

achieved Green Railway Station

status in 2023 is

(A) Visakhapatnam
Pradesh)

(B) Jhansi (Uttar Pradesh)

(C) Vijayawada (Andhra
Pradesh)

(D) Howrah (West Bengal)

In which Indian city has the
regional office of Universal
Postal Union been established?
(A) Mumbai (Maharashtra)

(B) Pune (Maharashtra)

(C) New Delhi (NCR)

(D) Varanasi (Uttar Pradesh)

(Andhra

Who has been appointed on
1st November, 2023 as the
Regional Director for the WHO’s,
South-East Asia region?

(A) Anusha Shah

(B) Saima Wazed

(C) Shital Mahajan

(D) Deepti Babuta
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33.

34.

35.
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(A) 26 feamr, 2023
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(C) 26 3ER, 2023

(D) 26 fear=r, 2022
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41. Which film has been given
‘Golden Peacock Award’ in the
S54th International Film Festival
of India 20237?

(A) Ring Wandering

(B) Endless Borders

(C) Into the Darkness

(D) Donbass

42. Match List-I with List-II :
List—I List—II
a. Satya Nadella 1. Microsoft
b. Sundar Pichai 2. Google
c. Neal Mohan 3. Adobe
d. Sanjay Jha 4. YouTube
e. Shantanu 5. Motorola Mobi
Narayen
Select the correct answer using
the codes given below.
(A) a b c d e
1 2 4 5 3
B) a b c d e
3 1 4 2 5
(C) a b c d e
4 3 1 2 5
D) a b c d e
2 4 1 3 5
43. In the Test Cricket history, six
batters got out on the same
score. What was the score?
(A) 156
(B) 151
(C) 155
(D) 153
44. Which one of the following city

was the host of the 15th BRICS
Summit, 20237

(A) Beijing

(B) Islamabad
(C) Durban
(D) Dhaka
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45. Which statement about the
President of Egypt El-Sisi is not
correct?

(A) He was Chief Guest
of India’s Republic Day
26th January, 2023.

(B) He was elected as the
President of Egypt for 2nd
time continuously.

(C) He recently obtain 89:6%
vote share.

(D) His present term will be of
6 years.

46. ‘Operation Dost’ was conducted
in February 2023 related to the
countries
(A) Russia-Turkey-Syria
(B) India-Turkey—Syria
(C) Iran-Turkey-Syria
(D) Saudi Arabia-Turkey—Syria

47. Which one of the following is
false about COP-28?

(A) Organizing duration from
30th November to 13th
December, 2023

(B) Organizing place—Doha
(Qatar)

(C) Loss and Damage Fund
Policy was approved

(D) Santiago  Network  was
approved

48. World’s First Conference on

Artificial Intelligence Safety was
organized on 1st-2nd Novem-
ber, 2023 in

(A) Buckingham (England)
(B) Geneva (Switzerland)

(C) Amsterdam (Netherlands)
(D) Washington, D. C. (USA)
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41. 549 URAE AU fhew wEleHd,
2023 # frm fhew =l TMoed s
qERR’ feam w27
(A) RaT Frefr
(B) T<cw died
(C) #Z 7 SThag
(D) EHaTE

42. HH-1 % 91 G-I o1 fiaH i
-1 -1

a. el Tl 1. WEHETE

b. G fu=mg 2. T

c. & Area 3. et

d. 93 = 4. I=H

e.mw 5. HIERIeT A
f= fer T g W oW W S W
g
(A) a b ¢ d e

1 2 4 ) 3
B) a b c d e
3 1 4 2 5
(C) a b ¢ d e
4 3 1 2 S
(D) a b C d e
2 4 1 3 5
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45.

46.

47.

48.
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e
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T 27
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49,

50.

51.

52.

53.

54.

The Mission Daksh’ initiative
of the Bihar Government is
concerned with

(A)
(B) economically weak students
(C) orphan students

(D) backward class students

academically weak students

In which district is the Valmiki
Tiger Reserve’ situated?

(A) Buxar

(B) West Champaran
(C) Kaimur

(D) Gopalganj

The second largest island of the
World is

(A) Borneo

(B) Madagascar

(C) New Guinea

(D) None of the above

Which of the following rocks is
not a metamorphic rock?

(A) Quartzite

(B) Gneiss

(C) Dolomite

(D) None of the above

Lake Taupo is located in which

country?

(A) Fiji

(B) New Zealand
(C) Japan

(D) None of the above

Which of the following currents
is not a warm current?

(A) Alaska Current

(B) Mozambique Current
(C) Antilles Current

(D) None of the above
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55.

56.

57.

58.

59.

60.

The Tropic of Cancer does not
pass through which of the
following States?

(A) Rajasthan

(B) Odisha

(C) Tripura

(D) None of the above

Which one of the following
mountain peaks of the Hima-

layas is not located in India?
(A) Dhaulagiri

(B) Nanga Parbat

(C) Kamet

(D) None of the above

Which one of the following is the
longest glacier of the Himalayas?

(A) Gangri
(B) Batura
(C) Hispar
(D) None of the above

Soil which develops in conical
forest of Taiga region is

(A) Chernozem
(B) Podzol
(C) Chestnut

(D) None of the above

World’s famous iron ore deposits
named Krivoy Rog is located in

(A) Ukraine
(B) Sweden
(C) Belarus
(D) None of the above

The origin point of Luni river,
which flows in Rajasthan and
Gujarat, is

(A) Sambhar Lake
(B) Pushkar Valley
(C) Sahni Marshes
(D) None of the above



49.

50.

51.

52.

53.

54.
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(C)
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(A) =ifd=
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(A) wTEsTEE

(B) -
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55.

56.

57.

58.

59.

60.
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T 87

(A) TSR
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(C) Fgu
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(B) M wda

(C) =
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T o fene 27

(A) TR

(B) =qu

(C) Tewm

(D) 3w & & 1S T

M & HUYE o7 T 4 a8
Ieft g ga1 @

(A) =T

(B) diestial

(C) =e

(D) S & & =IE T

e T H fa™ U A e
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(A) b

(B) e

(C) weITE|
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1 I A B

(A) ThR sfia

(B) TRt =

(C) et st

(D) 3w # & 1S T
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Harishena was the court poet of
which Gupta ruler?

(A) Chandragupta I
(B) Samudragupta

(C) Chandragupta II
(D) None of the above

At Delhi, during the Revolt of
1857, the nominal and symbolic
leadership belonged to the
emperor Bahadur Shah, but the
real command lay with a court
of soldiers headed by

(A) Nana Saheb

(B) Bakht Khan

(C) Hazrat Mahal

(D) None of the above

In 1890, the first woman
graduate of Calcutta University,

addressed the Congress session
was

(A) Kadambini Ganguly
(B) Sarojini Naidu

(C) Annie Besant

(D) None of the above

Which one of the following
authors and their works is
correctly stated?

(A) Subhas Chandra Bose—
The Indian Struggle
(B) Bhagat Singh—
The Discovery of India
(C) Jawaharlal Nehru—The
Story of My Experiments
with Truth

(D) None of the above

25/AGS/M-2023-02/12-A

*

65.

66.

67.

68.

69.

70.

Who is known as ‘Bihar Vibhuti’
(The Jewel of Bihar)?

(A) Anugrah Narayan Sinha
(B) Prafulla Chaki

(C) Upendra Narayan Jha

(D) None of the above

The Eran inscription belonged to
the reign of

(A) Budhagupta

(B) Skandagupta

(C) Kumaragupta

(D) None of the above

‘Diwan-i-Insha’ dealt with

(A) foreign affairs

(B) State correspondence

(C) military affairs

(D) None of the above
Maharaja Ranjit Singh belonged
to

(A) Sukerchakia Misl

(B) Ramgarhia Misl

(C) Ahluwalia Misl

(D) None of the above

At which place Mauryan empire
built palace?

(A) Pataliputra

(B) Kumhrar

(C) Rajgir

(D) None of the above

Who among the following was

appointed as Deputy Diwan of
Bihar after 17647?

(A) Reza Khan

(B) Shitab Rai

(C) Murshid Quli Khan
(D) None of the above
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62.

63.

64.
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68.

69.

70.
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71. Which Constitutional Amend-

ment Act has added

provisions related to cooperative
societies in fundamental rights
and DPSPs of the Constitution

of India?

(A) 97th Constitutional

Amendment Act of 2011

(B) 96th Constitutional

Amendment Act of 2011

(C) 95th Constitutional

Amendment Act of 2009

(D) None of the above

72. Which of the
committees consist of

representatives of both the Lok

Sabha and Rajya Sabha?
1. Estimate Committee

2. Committee on
ordination Legislation

3. Public Accounts Committee

4. Committee on Public

Understanding

Select the correct answer.
(A) 1, 2, 3 and 4

(B) 3 and 4 only

(C) 2, 3 and 4 only

(D) None of the above
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following

73.

74.

75.

Any political party could be
recognized as National Party, if

1. it is recognized as State
party in four States

2. it secures 4% valid votes
in Lok Sabha or State
Legislative Assembly

3. it wins 2% of seats in Lok
Sabha at general election
from three States

Select the correct answer.

(A) 1 only
(B) 2 and 3
(C) 1 and 3

(D) None of the above
Sarkaria Commission was
appointed with the objective

(A) to review Panchayati Raj
system

(B) to review  Centre-State
relations

(C) to review the Constitution
(D) None of the above

In India, judicial review is based
on

(A) due process of law

(B) procedure established by
law

(C) rule of law

(D) None of the above
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76.

77.

78.

79.

The Indian Nationalist leader
who delivered lecture on Joseph
Mazzini and the <Young Italy’
movement was

(A) Subhas Chandra Bose
(B) Surendranath Banerjee
(C) Jawaharlal Nehru
(D) None of the above

Welby Commission (1895) was
constituted on which of the
following matters?

(A) Education in India
(B) Indian Expenditure
(C) Land Revenue

(D) None of the above

Who wrote that “In granting
separate electorates we are
sowing the dragon’s teeth and
the harvest will be bitter”?

(A) Minto

(B) Morley

(C) Gladstone

(D) None of the above

The Leaders’ Manifesto condemn-
ing the exclusion of Indians from
the Simon Commission was
signed by

(A) Sir Ali Imam
(B) Shri Sachchidananda Sinha
(C) Nawab Ismail Khan

(D) More than one of the above

25/AGS/M-2023-02/12-A

80. Who was the editor of Searchlight

81.

82.

newspaper in Bihar?

(A) Nibaran Chandra Dasgupta
(B) Murli Manohar Prasad

(C) Manindra Narayan Roy

(D) None of the above

By which Act the power of

government transferred the
Company to the Crown?

(A) 1813
(B) 1835
(C) 1858
(D) 1861
With which incident Subhas

Chandra Bose compared to
Napoleon’s March to Paris on his
return from Elba?

(A) Mahatma
Champaran Visit

Gandhi’s

(B) Mahatma Gandhi’s Salt
March
(C) Mahatma Gandhi’s Quit

India Movement

(D) Mahatma Gandhi’s partici-
pation in Second Round
Table Conference
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77.

78.
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82.

FH 97

(A) T =15 qraTE

(B) el e e

(C) wfiz ArreT T

(D) 39 & & 1§ T

fope faf—m o ST TS itk St
¥ qI I FEATARG g3 7

(A) 1813

(B) 1835

(C) 1858

(D) 1861

foFe we il go ga™ = 9 |
AITCTE o Soan § URE wited § i oft?

(A) TETeHT Tieft sl =raRoT A
(B) W&TcHT Tieft st qHeh AT
(C) TETeHT Tieft =1 YR Biel A<l

(D) HaTcHT et s fgdm Miems
g § gfawm

23 [IHNETmmnwmmm ¢ e.r.o.



83.

84.

85.

On which date the Muslim
League declared as ‘Direct
Action Day’?

(A) 6th August, 1946

(B) 16th August, 1945

(C) 26th August, 1946

(D) None of the above

In which city was the Hindustan

Socialist Republic Army (HSRA)
founded?

(A) Kanpur
(B) Meerut
(C) Bombay
(D) Delhi

In which year Muzaffarpur
Bomb Case took place?

(A) 1905
(B) 1906
(C) 1907
(D) 1908
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86. Ramesh scores in five math tests

87.

88.

are 89, 75, 78, 84 and 83. What
does he need to score in the next
test for his final average in all
the tests to be at least 827

(A) 90
(B) 83
(C) 84

(D) None of the above

Early Ram was
standing on the ground in front
of an effigy. The shadow of the
effigy was appearing towards the
right side of Ram. In which

direction is Ram facing?

morning,

(A) East
(B) West
(C) South

(D) None of the above

There are five different houses
A to E in a row. A is to the right
of B and E is to the left of C and
right of A. B is to the right of D.
Which of the houses is in the
middle?

A) A
(B) E
(C) C

(D) None of the above
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84.

fra fafy =1 gfem o 3 o™
Frardt feam’ wamEn?

(A) 6 3T, 1946

(B) 16 ¥, 1945

(C) 26 31T, 1946

(D) 39w & & g T

forg TR # fergram wiftmfoee fufsers
el (HSRA) werfua g3 off?

(A) TR

(B) W@

(C) ==

(D) fagh

85. forg o YSIPRQL oW 1 S g3 17

(A) 1905

(B) 1906

(C) 1907

(D) 1908
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86.

87.

88.
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30 foru 38 srrelt wfien # fhad ei
TTH ST hi STl &7
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(C) 84
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e 97| gaol il T W F qIfRAT AN

foar 2 @ off| 7w =1 ga T femm &
27

() o

(B) ufwm

(C) sfe

(D) 39t # & 1S T

T UfE § A § E d% e -3
WE A BFTEINEIME, CH

TE ML INAFIALINEI B, DH
T 3 2| 90 O HI-97 W = § 77

(A) A
(B) E
(C) C
(D) 37 | ¥ HIE T
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89.

90.

How many words can be formed
from letters of the word ‘ULTRA’
so that the vowels never come
together?

(A) 120
(B) 72
(C) 48

(D) None of the above

Find the odd one from the
following :

385, 682, 341, 427, 352, 321, 693

91.

92.

(A) 341
(B) 427
(C) 321

(D) More than one of the above

If the 3rd day of a month is
Friday, which day will be the
6th day before 27th of this
month?

(A) Tuesday

(B) Wednesday

(C) Friday

(D) None of the above

Two persons are going. One is
the father of the son of the
other. What is the relationship
between the two?

(A) Mother-Son

(B) Father-Son

(C) Wife-Husband

(D) None of the above
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93.

94.

95.

In the following table, obtain the
missing number x :

1202432 36]

(A) 28
(B) 30
(C) 32

(D) None of the above

In a coded language, ‘CHAIR’ is
written as DJDMW. How will
you write ‘TABLE’ in the same
coded language?

(A) UCEPJ
(B) CEUPJ
(C) VCFQJ

(D) None of the above

While introducing a man to her
husband, a woman said his
brother’s father is the only son
of my grandfather. How is the
woman related to this man?

(A) Sister
(B) Mother
(C) Daughter

(D) None of the above
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‘ULTRA’ W58 & &l ¥ fohad 3
AT ST Fhd T ATk TR i TH-1y
T A?

(A) 120

(B) 72

(C) 48

(D) 3udth # & 1S T

3TETT I R |

385, 682, 341, 427, 352, 321, 693

91.
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(A) 341
(B) 427
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Ife foret weh mre @1 e fod gan 2,
9 39 "E % 274 fo7 4 6 foT e
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1 AR 1 R &1 TH gEX o o I o
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(A) w3

(B) foa-ga

(C) dweft—ufa

(D) 3T # & S
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93.

94,

95.

frfafaa aiferert & g8 @@= x W
T -

22 x | 34
1202432 36]

(A) 28
(B) 30
() 32
(D) 39w & & g T

TH % 91 H ‘CHAIR' % DJDMW
foran Smar 1 36t e W # “TABLE’
1 3 H forem?

(A) UCEPJ

(B) CEUPJ

(C) VCFQJ
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96.

97.

Certified Seeds Production

Programme, which began in
2022-23, offers farmers an
incentive of

(A) ¥4,500 per quintal

(B) ¥5,500 per quintal

(C) ¥5,000 per quintal

(D) None of the above

Which of the
correctly matched?

following is

1. Apni Mandi : Punjab,
Haryana and Rajasthan

2. Hadapsar Mandi : Pune

3. Rythu Bazars : Vegetable
and fruit markets
in Tamil Nadu

4. Uzhavar Sandies : Farmers
market in Andhra Pradesh

Select the correct answer.

(A) 1 and 3
(B) 2 and 4
(C) 3 and 4

(D) More than one of the above
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98.

99.

100.

In reference to the National
Family Health Survey-5, consider
the following statements and
select the correct answer :

1. Total Fertility Rate (TFR)
came down to 1 in 2019-21
from 2-2 in 2015-16.

2. Infant Mortality Rate (IMR),
under-five mortality rate
and institutional births
have improved in 2019-21
over the year 2015-16.

3. 83 districts have become
‘Har Ghar Jal’ districts.

(A) 1 only
(B) 2
(C) 1 and 3

(D) None of the above

If new currency is being issued,

then who has the authority to

decide its ‘denomination’?

(A) RBI's Central Board of
Directors

(B) Central Government
(C) Monetary Policy Committee
(D) None of the above

Total receipts in 202324
Budget other than borrowings
compared to revised estimate of
2022-23 Budget are expected
to register an increase of what
percentage?

(A) 8%
B) 7%
(C) 6%

(D) None of the above
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2022-23 # & goml, TorEmi & ffafed wot ® foem fifsg @R
_ icHTEd Y ST Tt I g

' 1. 3 U & (o Tho 3MNo)
() ¥4,500 wfd faec 2015-16 # 22 & HEH

2019-21 ¥ 1 W 37 TE|

2. Ty ¥ = (IM@o Wo Mo),
qre 9 ¥ HH 3W Rl g R IR
T 99 H a8 2015-16 H
o | 2019-21 § R g3 2|

(B) ¥ 5,500 ufq fehea

(C) ¥5,000 uf ferea

(D) ST & 9 I Tl 3. 83 @ Wwm v o & ™
H
07, Frifim & & w-a wd e 37 EA’) Z’Wl
B
1. ol T« s, et s (©) 13m3
TSTEH (D) 3w H ¥ FIE T
2. TEUR HE : 99. AR 4% Yz W K W W E, q IEH
Hea T H FH A(UER fohEes ar 87
3. TUY AW : qHeHTg § Fosft 3T (A) Mo o o w1 e e
%ol SR e
. ' ' ‘ (B) °h5 THR
4, IFE SIS : 3NY YSw H fHEE (C) wifer if afrf
A (D) e & & i 7
e I A I 100. 2022-23 % 55 % TeE FHA 6
o H YR & @l 2023-24 H
(A) 133 awe § pa mhE #§ fr wRea A
gha st g i 3ufie 77
(B) 2 3 4 ) 8%
(C) 3 3R 4 (B) 7%
(C) 6%
(D) e # & T @ A (D) =wdw & & w7
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25/AGS/M-2023-02 gieaent @t

SHIGAR &1 ATHATH

A

oA -gfedent
AT AT

quUg 29 2 quTieh : 100

9T % ST A W Uge 9 for@ 1R i oA @ ug ot |

10.

11.

12.

13.

PO

el e

. 3@ JH-gfEae § Fd 100 TH 2|

Y % 3Tk gHE 2|
erc]

[t
Tt &% W 2|

. TR SRR A @ Sd Sut UyA-Yfeaent f At o 3@ o TR 3o IR gt oiR wvA-yitaer

AEer Yisa 21 Fuan wa & FoF gitaert § 6 % 7g 91 YST (I3 @ 30 R 31) wfd | 32 gita
US ¥ 3 I U8 a1 UPA TS AT ST BUT gRAT AT e I AT SIS AT gl At e B | Yiewenn #
Tt TR Y IR U W AR 3k ded TH JEET hl gE TE e o o |

. afe Fordt wem & forelt TR Y IS RO A1 et WeRR Sl AR B, @ weAl % oS qun fed wurad # @

343!3 Y-l I THEE AT ST |

. 39 U8 o IR i@ wom § o9 srgsnme eaw fod | weA-gfer s g A o)
. T % I A % I Rty -gfeqen afed Iw aees fe SR e IR uew & y5-2 W fuifa weum

T STUAT AW, TRATH, TIT-Jedeht JE@e qT 3 foamur srava fored s oaeht S useh s
TE S

. TR TH & YB-2 W (Ui TH F 0 IIRuTeR a1 UvHA-Yfedert sl g@et A, B, C I D ST 3

-G % TR U % HW IRl IR Afhd ¥, ¥ Wl Hie @l el /Aot wret & ata-uige
T T F2aG i | IW AR W T-YIEaeRt JEer 3ifeha A€ T S1uat e et sifehd T W IR
ek T HEl Yodichd TEl gnT|

. 39 gfeqent § |eft I TR 39k I S we fedt @ gfsd ¥1 ves v % ww sw—(A), (B), (C) 3R (D)

FH W e T F | IH W A TY E hael U IA I gA SR T IW IAS W ARk | AT et v
o Tor forell oo & U @ ATt I EE €, A 3T 37U ST U9k H 39 3T R Afehd hi Sl 39! FaTH o |
T T o ToT0 hael Ueh & I G & | 37T ol TTHI 370k §H I 0 | 3ifehd Tt 3a0 W ffe
BT

IR T H TS T HEAT % G 9R I9 36 TR 54 g —@), ®), © R ©)| T % IW A F fow
TRl AT TH5 F HAA Teh J okl et /Hieft W & SicA-utgee 99 9 Ffgd w5 21 g 7 & fau
A Tk T ! g 3R I 9 IW T § Tafgd | 19 IW oA H IS U T o e w | Afoes g9 |
o e §, a1 STI9eRT 3T TTeld T ST ST Ueeh W Skt fufEa o & e e et /et
TTE o ATA-UTg~e U T & TAN K| FRET off THRR T FHE-Fe AYTT TRIAAT 7 TG 8

T -GfETeRT & IS TAT BISAT AT TR AT T 8 | T -GfEdert 3R T =k ol wiea it srafe § wlieq waq 9
FTEX AT 7 o ST | THEAT o THIIT W IR U S1eTeh ohl Ta9T €T & | 36k 18 HTTeh! T T -Jfeeht
A W A I A AgEfd Bl

FW F I H A forelt U o1 oft e T A W ST WA % {FSRgER FRar i S dehdl 7 AeE
IRl 3 T T s weRan 21

F1eefl I T I AT AT § Self Adhesive LDPE Bag § T @@ ¥ U /i@ @™ o 3Wd &
TR Bl BIS |

Note : English version of the instructions is printed on the First Page of this Booklet.
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